
















Power Drop Straight Blade Finish Assembly

Figure 5-7.  Power Drop Straight Blade Finish Assembly

Table 5-8.  Power Drop Straight Blade Finish Assembly

Part Number Quantity Description

1 6803-8030-267 1
Power drop straight blade frontbody

assembly

2 0208-0600-300 1 Strain relief

3 0210-0559-300 2 O-ring, screw retainer

4 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

5 0211-1492-300 1 Grommet

6 0208-0501-300 1 Receptacle, straigh blade

7 0999-7996-010 As required Cable, flexible 12 AWG type SOW

8 6812-2540-007 1 Bracket, cord mounting

9 6803-2000-206 1 Faceplate, outlet, powder coated

10 6812-2540-005 1 Finish plate

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-17

Power Drop Straight Blade Finish Assembly
Chapter 5



Duplex Receptacle Finish Assembly

Figure 5-8.  Duplex Receptacle Finish Assembly

Table 5-9.  Duplex Receptacle Finish Assembly

Item

Number
Part Number Quantity Description

1 675E01 1
Duplex receptacle, frontbody assembly—

Ivory—20A

2 675E02 1
Duplex receptacle, frontbody assembly—

Red—20A

3 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

4 6803-2000-002 1 Finish plate, electrical

5 205454 1 Faceplate, duplex receptacle

6 205556 1
Receptacle, Duplex straight blade—Ivory

(included with assembly 675E01)

7 205557 1
Receptacle, Duplex straight blade—Red

(included with assembly 675E02)

Page 5-18 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Duplex Receptacle Finish Assembly
Chapter 5



Outlet—GFCI Finish Assembly

Figure 5-9.  Outlet—GFCI Finish Assembly

Table 5-10.  Outlet—GFCI Finish Assembly

Item

Number
Part Number Quantity Description

1 675E07 1
GFCI receptacle, frontbody assembly—

Ivory—20A

2 675E06 1
GFCI receptacle, frontbody assembly—

Red—20A

3 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

4 6803-2000-206 1 Finish plate, electrical

5 205552 1 Faceplate, switch, Decora®

6 50136 1
Receptacle, GFCI—Ivory (included with

assembly 675E07)

7 54743 1
Receptacle, GFCI—Red (included with

assembly 675E08)

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-19

Outlet—GFCI Finish Assembly
Chapter 5



Toggle Switch Finish Assembly

Figure 5-10.  Toggle Switch Finish Assembly

Table 5-11.  Toggle Switch Finish Assembly

Item

Number
Part Number Quantity Description

1 675E03 1 Toggle switch, frontbody assembly

2 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

3 6803-2000-206 1 Finish plate, electrical

4 205551 1 Faceplate, switch, toggle

5 56824 1 Switch, toggle, 3-way

Page 5-20 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Toggle Switch Finish Assembly
Chapter 5



Decora® Switch Finish Assembly

Figure 5-11.  Decora® Switch Finish Assembly

Table 5-12.  Decora® Switch Finish Assembly

Item

Number
Part Number Quantity Description

1 675E04 1 Decora® switch, frontbody assembly

2 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

3 6803-2000-206 1 Finish plate, electrical

4 205552 1 Faceplate, switch, Decora®

5 205555 1 Switch, Decora®, 3-way, 20A

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-21

Decora® Switch Finish Assembly
Chapter 5



Low Voltage Switch Finish Assembly

Figure 5-12.  Low Voltage Switch Finish Assembly

Table 5-13.  Low Voltage Switch Finish Assembly

Item

Number
Part Number Quantity Description

1 675E05 1 Low voltage switch, frontbody assembly

2 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

3 6803-2000-206 1 Finish plate, electrical

4 205550 1 Faceplate, switch, low voltage

5 204662 1 Switch, rocker momentary

Page 5-22 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Low Voltage Switch Finish Assembly
Chapter 5



Blank Provision Finish Assembly

Figure 5-13.  Blank Provision Finish Assembly

Table 5-14.  Blank Provision Finish Assembly

Item

Number
Part Number Quantity Description

1 675E06 1 Blank provision, frontbody assembly

2 6812-2001-002 2 Screw—oval PH SST #6 x 1-3/4 type F

3 6803-2000-206 1 Finish plate, electrical

4 205455 1 Faceplate, blank provision

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-23

Blank Provision Finish Assembly
Chapter 5



Electrical Accessories Rough-In Assembly

Figure 5-14.  Electrical Accessories Rough-In Assembly

Table 5-15.  Electrical Accessories Rough-In Assembly

Item

Number
Part Number Quantity Description

1 6803-8030-270 1 Electrical accessories rough-in assembly

2 6812-2540-006 1 Junction box, electrical

3 6803-2000-277 1 Backplate, electrical accessories

4 6812-2000-075 2 Screw, #8 x 5/8

5 6812-2000-000 4 Screw, pan PH SST #6-32 x 1-7/8

Page 5-24 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Electrical Accessories Rough-In Assembly
Chapter 5



Recessed Wall Slide Finish Assembly

Figure 5-15.  Recessed Wall Slide Finish Assembly

Table 5-16.  Recessed Wall Slide Finish Assembly

Item

Number
Part Number Quantity Description

1 6803-8030-263 1 Vacuum slide outlet frontbody assembly

2 6812-2001-002 2 Screw, oval PH SST #6 x 1-3/4 type F

3 6803-2000-207 1 Faceplate, vacuum slide, powder coated

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-25

Recessed Wall Slide Finish Assembly
Chapter 5



Recessed Wall Blank Finish Assembly

Figure 5-16.  Recessed Wall Blank Finish Assembly

Table 5-17.  Recessed Wall Blank Finish Assembly

Item

Number
Part Number Quantity Description

1 6803-8030-264 1 Blank outlet frontbody assembly

2 0210-0559-300 4 O-ring, screw retainer

3 6803-2000-205 1 Faceplate, gas outlet, powder coated

4 6803-2000-163 1 Plate blank, wall outlet

5 6812-2001-003 2 Screw—pan PH SST 6-32 x 1-7/8

Page 5-26 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Recessed Wall Blank Finish Assembly
Chapter 5



Recessed Wall Slide Rough-In Assembly

Figure 5-17.  Recessed Wall Slide Rough-In Assembly

Table 5-18.  Recessed Wall Slide Rough-In Assembly

Item

Number
Part Number Quantity Description

1 6803-8030-269 1 Vacuum slide outlet rough-in assembly

2 0203-0143-300 1 Caplug, #14 taper

3 6803-2000-276 1 Backplate, slide

4 6812-2000-075 2 Screw, #8 x 5/8

5 6803-2000-290 1 Dust cover

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-27

Recessed Wall Slide Rough-In Assembly
Chapter 5



Wall-Mounted Slide Finish Assembly with Anchors

Figure 5-18.  Wall-Mounted Slide Finish Assembly with Anchors

Table 5-19.  Wall-Mounted Slide Finish Assembly with Anchors

Item

Number
Part Number Quantity Description

1 6803-8030-268 1
Vacuum slide outlet frontbody assembly with

anchors

2 6812-2001-002 2 Screw, oval PH SST #6 x 1-3/4 type F

3 6803-2000-207 1 Faceplate, vacuum slide, powder coated

4 0402-1820-300 2 Anchor

Page 5-28 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Wall-Mounted Slide Finish Assembly
Chapter 5



Surface-Mounted Gas Outlet Enclosure

Figure 5-19.  Surface-Mounted Gas Outlet Enclosure

Table 5-20.  Surface-Mounted Gas Outlet Enclosure

Item

Number
Part Number Quantity Description

1 6803-8030-271 1 Kit, exposed gas outlet

2 6803-2000-288 1 Bracket, surface-mount

3 0140-6124-106 2 Screw

4 6803-2000-289 1 Box, surface-mount outlet

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-29

Surface-Mounted Gas Outlet Enclosure
Chapter 5



Surface-Mounted Slide Enclosure

Figure 5-20.  Surface-Mounted Slide Enclosure

Table 5-21.  Surface-Mounted Slide Enclosure

Item

Number
Part Number Quantity Description

1 6803-8030-274 1 Kit, exposed slide

2 6803-2000-288 1 Bracket, surface-mount

3 6803-2000-290 1 Box, surface-mount slide

4 9100-1000-001 1 Slide, vacuum

5 9100-1000-000 1 Spacer, slide

6 6812-2000-970 2 Screw

Page 5-30 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Surface-Mounted Slide Enclosure
Chapter 5



Replacement Twist-Lock Barrel Assembly Repair Kits

Figure 5-21.  Replacement Twist-Lock Barrel Assembly Repair Kits

Table 5-22.  Replacement Twist-Lock Barrel Assembly Repair Kits

Item

Number
Part Number Quantity Description

1 6803-7030-121 1 Loaded barrel—Diamond® key style

2 6803-7030-122 1
Loaded barrel—Latch index key style, with

Hill-Rom logo

3 6803-7030-123 1
Loaded barrel—Geometric key style

(excluding WAGD) 

4 6803-7030-130 1
Loaded barrel—Latch index key style,

without company logo

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-31

Replacement Twist-Lock Barrel Assembly Repair Kits
Chapter 5



Frontbody Repair Parts Kits

Figure 5-22.  Frontbody Repair Parts Kits

Table 5-23.  Frontbody Repair Parts Kits

Item

Number
Part Number Quantity Description

1 6803-7030-117
1 pkg. for

10 outlets
Repair kit, frontbody—Diamond® key style

2 6803-7030-118
1 pkg. for

10 outlets

Repair kit, frontbody—Latch index key

style

3 6803-7030-119
1 pkg. for

10 outlets

Repair kit, frontbody—Geomoetric key

style

4 6803-7030-116
1 pkg. for

10 outlets
Repair kit, frontbody—DISS key style

Page 5-32 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Frontbody Repair Parts Kits
Chapter 5



Rough-In Assembly Repair Parts Kits

Figure 5-23.  Rough-In Assembly Repair Parts Kits

Table 5-24.  Rough-In Assembly Repair Parts Kits

Item

Number
Part Number Quantity Description

1 6803-7030-125
1 pkg. for

10 outlets

Repair kit, rough-in—Vac/WAGD/AGSS (all

key styles)  

2 6803-7030-124
1 pkg. for

10 outlets

Repair kit, rough-in—Pressure gases (all key

styles)

5

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 5-33

Rough-In Assembly Repair Parts Kits
Chapter 5



DiamondCare® Conversion Kits

Figure 5-24.  DiamondCare® Conversion Kits

Table 5-25.  DiamondCare® Conversion Kits

� Rough-in assembly conversion only. A new DiamondCare®, Diamond®, or DISS frontbody 

finish assembly must be separately ordered.

Item

Number
Part Number Quantity Description

1 6803-7030-128� 1
Kit, retro—Diamond®/DISS II and III wall

vacuum  rough-in assemblies

2 6803-7030-126� 1
Kit, retro—Diamond®/DISS II and III wall

pressure  rough-in assemblies

3 6803-7030-127� 1
Kit, retro—Diamond®/DISS II and III

console pressure rough-in assemblies

4 6803-7030-129� 1
Kit, retro—Diamond®/DISS II and III

console vacuum rough-in assemblies

Page 5-34 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

DiamondCare® Conversion Kits
Chapter 5



Chapter 6 
General Procedures

Chapter Contents

Cleaning......................................................................................................................6-2

Steam Cleaning.....................................................................................................6-2

Cleaning Hard to Clean Spots ..............................................................................6-2

Disinfection ..........................................................................................................6-2

Component Handling..................................................................................................6-3

Lubrication Requirements ..........................................................................................6-3

Service ........................................................................................................................6-4

Repair Policy and Procedure ......................................................................................6-5

Repair Kits..................................................................................................................6-6

General Service Procedures........................................................................................6-7

Tool and Supply Requirements ..................................................................................6-8

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-1



Cleaning

WARNING:
Follow the product manufacturer•s instructions. Failure to do so could result
in personal injury or equipment damage.

CAUTION:
Do not use harsh cleaners/detergents such as scouring pads and heavy duty
grease removers, or solvents such as toluene, xylene, and acetone.
Equipment damage could occur.

CAUTION:
Do not use oil or grease on or around the outlet. Doing so could result in
equipment damage. Use only lubricants approved for oxygen service, such
as Krytox® 6PL205.

If there is no visible soilage with possible blood or body fluids, we recommend that you
clean the unit with a mild detergent and warm water. If disinfection is desired, you may use
a combination cleanser/disinfectant as explained in •DisinfectionŽ below.

Steam Cleaning

Do not use any steam cleaning device on the DiamondCare® Recessed Wall Outlets.
Excessive moisture can damage mechanisms in this unit.

Cleaning Hard to Clean Spots

To remove difficult spots or stains, we recommend that you use standard household
cleansers and a soft-bristled brush. To loosen heavy, dried-on soil, you may first need to
saturate the spot.

Disinfection

�%�H�I�R�U�H���D�S�S�O�\�L�Q�J���G�L�V�L�Q�I�H�F�W�D�Q�W���F�K�H�P�L�F�D�O�V�����H�Q�V�X�U�H���W�K�D�W���W�K�H�\���D�U�H���F�R�P�S�D�W�L�E�O�H���Z�L�W�K���$�%�6���D�Q�G��
�S�R�O�\�F�D�U�E�R�Q�D�W�H���S�O�D�V�W�L�F�V�����D�Q�G���G�L�H���F�D�V�W���]�L�Q�F�����%�H���D�Z�D�U�H���W�K�D�W���D�V���G�L�V�L�Q�I�H�F�W�D�Q�W�V���G�U�\���R�Q���D���V�X�U�I�D�F�H����
�F�R�Q�F�H�Q�W�U�D�W�L�R�Q�V���X�S���W�R�������������F�D�Q���E�H���D�F�K�H�L�Y�H�G������
�4�X�D�W�H�U�Q�D�U�\���D�P�P�R�Q�L�X�P���D�J�H�Q�W�V���P�D�\���F�D�X�V�H���G�H�J�U�D�G�D�W�L�R�Q���R�I���S�O�D�V�W�L�F�V������

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN04-045) Page 6-2

Cleaning
Chapter 6



Component Handling

CAUTION:

When testing an outlet for correct operation, do not allow the piston in the

check valve to "snap" back into position. The shoulder on the piston can

break, causing leakage. 

WARNING:

Particular caution must be taken to provide frequent inspection and service

of the air outlets where DiamondCare® outlets are used in an air system

supplied by a liquid ring air compressor that uses chlorinated water, and

having galvanized piping or a galvanized air receiver. Chemical reactions

occurring under those conditions may damage the pistons. Air outlets should

be examined at least annually, and pistons that show evidence of

deterioration should be replaced. Failure to do so could result in personal

injury or equipment damage.

Lubrication Requirements

WARNING:

Follow the product manufacturer’s instructions. Failure to do so could result

in personal injury or equipment damage.

CAUTION:

Do not use silicone-based lubricants. Equipment damage could occur.

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN04-045) Page 6-3

Component Handling
Chapter 6



Service

WARNING:

Only facility-authorized personnel should service the DiamondCare®

Recessed Wall Outlets. Service performed by unauthorized personnel could

result in personal injury or equipment damage.

For standard guidelines in properly maintaining the gas outlets, refer to CGA Pamphlet E-10

(1999 Edition), Maintenance of Medical Gas and Vacuum Systems in Health Care
Facilities.

Include the following when servicing the DiamondCare® Recessed Wall Outlets:

• Inspect the finish faceplate and replace if necessary.

• Inspect all labels and replace if necessary.

• Check the general aesthetics of the DiamondCare® Recessed Wall Outlets.

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-4

Service
Chapter 6



Repair Policy and Procedure

CAUTION:

No repair should ever be undertaken or attempted by anyone not meeting

the qualifications of or complying with the BeaconMedæs repair policy and

procedures. Failure to do so could result in equipment damage.

• Do not use malfunctioning equipment.

• To ensure full reliability, have all repairs and service done by an authorized

BeaconMedæs service representative. If this cannot be done, replacement and

service of those parts listed in this manual can be done by a competent, trained

individual having experience in the repair of devices of this nature. 

• After any repair, test the equipment to ensure that it is functioning properly and

in accordance with the manufacturer\qs published specifications.

• Replace damaged parts with components manufactured or sold by

BeaconMedæs. Then test the unit to make sure that it complies with the

manufacturer\qs published specifications.

• Contact BeaconMedæs at 1-(888) 4-MEDGAS (463-3427) for assistance.

• If you send a damaged assembly to a BeaconMedæs service center, package it

securely in the original shipping container, if possible, and ship it prepaid.

Enclose a letter with the assembly describing the problem and the repairs felt

necessary. 

• In cases not covered by the BeaconMedæs Limited Warranty Policy, repairs will

be made according to the BeaconMedæs current list price for the replacement

part(s), plus a reasonable labor charge.

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-5

Repair Policy and Procedure
Chapter 6



Repair Kits

BeaconMedæs provides separate repair kits for these DiamondCare® frontbody and rough-

in assemblies: 

• Replacement Twist-Lock Barrel Assembly

– Diamond® Key Style

– Latch Index Key Style

– Geometric Key Style (excluding WAGD)

• Frontbody Repair Parts Kit

– Diamond® Key Style

– Latch Index Key Style

– Geometric Key Style

– DISS Key Style

• Rough-in Assembly Repair Parts Kit

– Pressurized gases (all key styles)

– Vacuum, WAGD, and AGSS (all key styles)

• DiamondCare® Conversion Kit

– Diamond®/DISSII and III wall rough-in assemblies �
– Pressure gases

– Vacuum, WAGD, and AGSS

– Diamond®/DISSII and III console rough-ins assemblies �
– Pressure gases

– Vacuum, WAGD, and AGSS

� Rough-in assembly conversion only. A new DiamondCare®, Diamond®, or 

DISS frontbody finish assembly must be separately ordered.

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-6

Repair Kits
Chapter 6



6.1 General Service Procedures

CAUTION:

Only authorized and trained personnel should perform the service

procedures. (The service procedures in Chapter 4 can be followed by

individuals who have general knowledge and experience with devices of this

nature.) No repairs or service should be attempted by anyone not having

such qualifications.

WARNING:

Where DiamondCare® Recessed Wall Outlets are used in an air system

supplied by a liquid ring air compressor that uses chlorinated water, and has

galvanized piping or a galvanized air receiver, particular caution must be

taken to frequently inspect and maintain of the air outlets. Chemical

reactions occurring under those conditions may damage the pistons. Failure

to maintain the air outlets could result in personal injury or equipment

damaged.

1. Examine air outlets at least annually, and replace pistons that show evidence of

deterioration. If deterioration is noted, examine the outlets quarterly.

2. Use only genuine replacement parts manufactured or sold by BeaconMedæs for

all outlet repairs. 

3. Read completely through each procedure before starting the procedure. Any

exceptions may result in failure to properly and safely complete the procedure

attempted.

CAUTION:

When testing an outlet for correct operation, do not allow the piston in the

check valve to "snap" back into position. The shoulder on the piston can

break, causing leakage.
6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-7

6.1 General Service Procedures
Chapter 6



Tool and Supply Requirements

To service the DiamondCare® Recessed Wall Outlets, the following tools are required:

• Retaining ring removal/installation tool (appropriate type/size)

• #2 phillips head screwdriver

• Screwdriver

• Small screwdriver

• Needle nose pliers

• Hand-held power drill

Page 6-8 DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045)

Tool and Supply Requirements
Chapter 6



NOTES:

6

DiamondCare® Recessed Wall Outlet and Electrical Accessories (MAN01-045) Page 6-9

Chapter 6




